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1. Answer the following qQUestiong - 1
o ) x10=10
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(a) Why do export form g
income?
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(b} Define disposable income_
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cd2) - (3)
{c) Which elements are included in . .
aggregate expenditure? 2. Answer the -following questions : 2x5=10
T I BommRes 5 R 2 TR PPy el i :
d) HOW. can we ‘derive investment ! (a) Distinguish between Private income and
multiplier from marginal propensity to ‘ Personal income.
consume? I
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(b) What is the difference between gross

(e) What is meant by transfer payment? domestic product at factor cost and at

TRICN 2 Jferee T I 2 , ‘ market price?
: i | q -
() When can net exports be negative? S : meﬂ%q?ﬁ e ®
fRgs 19 o g =0 ) :
(9) What is token money? {c) Write two limitations of measurement of
O] = R | National income.
o W o 1R B R forgy |
(h} What is Keynesian concept about
money supply? : ,
(PO 43S ] TR ey &9 @ g;a;ua;:ﬁt::?wmponems of consump-
() What is fiscal policy? " TSt T SRR R R
TR N R 9 .
. I le d o
() Define liquidity trap. | ) Wy do people demand liquid cash?
SR FR i oy | ; FICe o 0 R R v 2

24A/99 :
( Continued ) 24A/99 { Turn Over )




(4) (5)

3. Answer any four of the following questions : (d) Explain the factors determining the
5x4=20 marginal propens1ty to consume.
TS fa ereig R o wifor BeR o : onfi copl el FERT T SommrrR TN
(@) Explain different methods of measuring Ak
national incmhé. (e What are the components of money
S ST S 3 AR TM 4 | supply? Explain-
- mmﬂm%mﬁﬁs?WW|
(b) Compute NNP a¢ factor cost from the  of ..
following information : ' (f) Discuss the role ot monetary policy in
formation : .o inflation.
WO Beoti gy - i e qiFe MM g s
|
R:; ' ¥ (in crores) _
1. Wages and salarjes hff;;fé@) 4. Answer the following questions : 10x4=40
TR % e oo foa epeprR e A :
2. Rents ‘ ..
— . 116 @ Explain t‘_he basSiC 1ssues of macro-
3. Interest 84 economics- 10
™ ' sAfed T TPPIER W 34401
4. Profits e T
5. Mixed income ' : ' :
e : 108 What adjustments are to be made to
6. Net factor income from abroad ulate disposable income from GDP?
fRB o (3T -y 70 ;a(.)l;:v far does GDP reflect natinoal well-
. 7+3=10
. . . being?
(c) Explain the significance of money in g og oW A ¥ opp (T =¥
modern economy. I ¥R =ear 2
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h GLALLCIECR RS TS - }pm&mmﬂtﬁ%a,w
99 A |
24A/9 ( Continued ) 24A/99 ( Turn Over )

e EEEEEEEEE,— B . e ——




(b)
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(6)

State and  explain Keynesian
psychological law of consumption. What

. are the assumptions of the law? 10
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Distinguish between actual and
potential GDp, Explain the impact of
changes in Goyt, expenditure and taxes
on Nationg] income. 2+8=10
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Explain ‘how equilibrium national
Lcome g determined by classical
theoristg - 10
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Critically explain the cash transaction
aPproach of quantity theory of money.
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(d)
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(7)

What is liquidity preference? Explain
how equilibrium .rate of interest is
determined according to Keynes. 2+8=10
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Explain the process of credit creation by
Commercial banks. What are the
limitations of credit Creation power of

Commercial banks? 6+4=10
IR @ 91 T ey .
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